Name: Class/Period:

Assignment: linear function 2 Teacher: Lee

The value of x which makes E[lx_ 4] = l[E r— gj true is
Bled ol 4

AW —
—_— N
N
N B

Which value of x satisfies the equation i [E = x] =207
845

1 —45.6
2 444
3 -1973
4 -18.95

3 What is the value of x in the system of equations shown below?
S5x +4y=1
y=1—x

Answer: The value of x in the system of equations is

4 The value of the x-intercept for the graph 2x — 5y =30 is
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S What is the value of x in the solution of the system of equations 3x + 2y = 12 and 5x — 2y = 4?
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6 Given the table below that lists points on a line, what is the y-intercept of the line?
X -8 -2 0 2 4
y 0 3 4 5 6
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7 What is the value of y in the following system of equations?
2x +3y=6
2x+y=-2
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